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M.A. (Previous) Examination, 2016
PSYCHOLOGY
Paper-1V

(Psychological Statistics)

Time : Three Hours
Maximum Marks : 100

PART-A (@Uvs-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
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A PART-B (@vs—4) [Marks : 50
Answer five questions (250 words each), selecting
one question from each unit. All questions carry equal marks.
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PART-C (@vs-H) [Marks : 30
Answer any two questions (300 words each).
All questions carry equal marks.
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PART-A

(@uz—37)

1. Answer all questions.

mﬁu‘ﬁ‘f%wﬁﬁm

UNIT-I

(3=TE-1)
(1) Name the measures of Central Tendency.
T g O B 9 FaET)
(i) Write the formulae of Mode.

Ww?ﬂ'ﬁ?ml

UNIT-II

(3=1E-11)

(iii) Write the formulae of Pearson ‘r’.
s o+ = T3 fafau)
(iv) What is range of correlation ?

e H g =
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UNIT-III
(geTE-111)
(v) Write the formulae of Standard error of Mean.

gemaE # TEe 3 @ g fareul

(vi) What is Regression ?

wfrmE = ®2

UNIT-1V

(THE-1V)

(vii) What is the function of U Test ?

U uheor &1 w1 a4 82

(viii)) Which type of hypothesis is measured by
Chi square ?

mﬁmmmﬁaﬁﬁaﬁﬁ%?

UNIT-V

(T=HE-V)

(ix) Write any three components of computer.

W%mﬁ?ﬁ?mﬁ#mml

(x) What is LAN ?

LAN &1 22
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PART-B
(@ue-—7)

UNIT-I

(3=T3-1)

2. Calculate Median from the data given below :

ﬁwﬁiﬁgamﬁmfwﬁmﬁm:

6 Frequency
60-64 4
55-59 2
50-54 3
45-49 7
40-44 5
35-39 5
30-34 <+

N =30
OR
(319am)

3. Calculate S.D. from the data given in Q. No. 2 with short
method.

mzﬁﬁqmaﬁw&aﬂﬁﬁqmmmm
Eais|
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4.

UNIT-II

(F=TE-11)

Calculate Rank difference correlation :

FIfe TR egr=ey G O S L
Match I : 63, 55, 45, 47, 67, 70, 73, 68, 80.
Match 11 : 68, 55, 47, 45, 76, 72, 68, 73, 80.

OR
(r%ram)

What is Correlation ? Discuss its types.

WEHT 1 87 TWE IR # sren R

UNIT-II1
(&TE-111 )

Write notes on the following :
(a) Regression and Prediction.
(b) Regression effect.

(c) Regression line.
Frefafes w feafoet feafay .
(F) S qeon 9fysg-wem)
(@) i gamE)

() gfem= T
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OR
(37E)
7. On the basis of obtained result, interpret which mean is
more significant.
maﬁ@aﬁmmmﬁﬁq—mmm
favaada 2l

Boys Girls
Mean 415 103
S.D. 17.37 523
N 100 100
UNIT-1V
(§FTE-1V)

8. Calculate ¥* from the given scores :

fd T W ¥ 2 I TOA HINY

Successful Unsuccssful Total
A 120 130 250
B 150 100 250
Total 270 230 500
OR
(gl )

9. Compute F ratio :

F 3| I6 HIY :
Group A 22 28 26 18 16 22 20
B 28 27 26 28 22 27 20

C 16 14 24 14 16 12 14
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10.

11.

12.

13

UNIT-V

(3FE-V )

What is the use of computer in Statistical analysis ?

Wﬁaﬁﬁvﬁwﬁwmwmﬁ?

Write use of SPSS and its functions.

SPSS%MW@'meF@m

PART-C
(@ues—x)

UNIT-I

(FehTE-1)

Calculate Mean by Long method from the data of Q. No. 2.
mzﬁﬁqwaﬁr@@ﬁé%ﬁ:mmmmn

UNIT-I1

(F=rE-11)

Calculate AD from the data of Q. No. 2

mzﬁﬁqmméaﬁwfaammaﬁml
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UNIT-III

(FEE-1I1)

14. Marks obtained in two tests by 100 students are given
below :
100@rﬁm€rqﬁ&1ﬂﬁﬁmaﬁﬁmm% :

Test A Test B
Mean 136 68
SD. 13.69 2.37.
r = -60.

What will be the probable second test score of a student

whose first test score is 60 ?
afx BEE B ® Ted TaET H 60 siw & @ S°h TN
Theor § GOfaa e A B2

UNIT-1IV

(T=E-1V)

15. What is Analysis of Variance ? Discuss.
ool favawer N 82 A HifS

UNIT-V

(TE-V)

16. Distinguish between Hardware and Software.

TEgER dr SiRad § A< SarRdl
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